
 

 

Solving  Multiplication  Problems   

CRA Model  
Concrete  ---> Representational  --> Abstract  
Additional reading: Flores, Hinton, and Strozier, 2014 

 

Concrete  Example:  
The multiplication equation 42 x 3 will be used throughout the "concrete" 
demonstration. 
 
1) Review reverse rule for 3 x 2 = 6 (three groups of 2 equals 6) 2 x 3 = 6 
2) Read the problem. Insert a "T" and label tens and units 
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3) Set out the terns and units blocks for the top number (42: four tens, two units) 
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4) Examine the units column (three groups of two units). Set out blocks for three groups of 
two units. If there are 10 or more, go next door, but this does not apply in the example. 
 
5) Note the units column. Write the number '6' under the line 
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